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01 At 22l 300 300 0
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O0UXl 2e gR=2 400,000& 128 4,800
301 et d = 480 480 0
12 JIEEd = 480 480 0
ONZ2EUF HEINFE B3
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405 TtokFH S| 1,500 0 1,500
01 AL EZFH S 1,500 0 1,500
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< 2,394
Al 5,586
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Al 5,586
02 S| 2 S0il CH &HCH & A B 7,980 11,410 A 3,430
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307 2Iz2to| A 30,000 5,000 25,000
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S Y 2LUHE A 20,000,000 = 14! 20,000
04 QI2H8H AL R 5,000 5,000 0
O X &2 24 5,000,000 1Al 5,000
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02 =224l 172,512 0 172,512
O1 22232 % HA 172,512
DA A, SHE HA ESCOALE (1XH2) & &3
(2690 2) 3,781,910 *123] 45,383
DA A, SHE HA ESCOALE (X2 )& &3
(1690 2) 5,766, 140 «123] 69,194
DAt & E A ESCOAS (3XtE)&E 3 (5IHA
) 4,827 ,900& x123] 57,935
202 44l 3,600 0 3,600
01 S LHOIYI 3,600 0 3,600
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05 RIZt2lEt = 40,000 40,000 0
OAFUWUN IS HE S
40,000,000& =14 40,000
HEA nE 659,740 135,484 524,256
HEH 018 243 AHY 659,740 135,484 524,256
H&EH 018 2435t 8,460 7,060 1,400
201 et 3,860 2,460 1,400
01 At 22l 3,460 2,460 1,000
O1 Let==EH| 1,000
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02 23224l 400 0 400
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202 4l 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
OX&EN 018 E4dst=2l 300,000& »12& 3,600
301 gt 4= 1,000 0 1,000
10 AtAHIE A3 1,000 0 1,000
OXNEANXNZOIE &3 = 1,000,000 1Al 1,000
HEA HNM2ELNE 2 21,000 15,000 6,000
201 LBt2E| 8,000 12,000 A 4,000
01 At 22l 8,000 12,000 A 4,000
O1 Let==EH| 8,000
DAMNLE W 6,000,000 » 14! 6,000
Puss= JIE t™ AF 1,000,000 1A 1,000
DUAEHLNE =2 %X 1,000& =1,0009! 1,000
301 getE 4= 3,000 3,000 0
10 AtAHI 2 A3 3,000 3,000 0
OotduE 2dAZ 100, 000& =121 +103] 1,000
Ootdu=s 2d=A 2l 20,000& 1021 x103l 2,000
308 A EHHSOIA 10,000 0 10,000
06 WSII20UHet2x= 10,000 0 10,000
OXNEN HNM2H W= 10,000, 000& 14 10,000
H&EH OlSEHs I8t 25 5,960 2,560 3,400
201 LB-2d | 3,960 2,560 1,400
01 At 2t 2l 2,400 1,000 1,400
O1 Let==EH| 2,400
PDUAEHEES2HEH 225 72
150,000& *123] 1,800
DM 2 50,000& =123l 600
02 =224l 1,560 1,560 0
O1 332 ¥4 HA 1,560
PHEIRS 80,000& »12& 960
DER3 50,000& »12& 600
301 L2 LS 2,000 0 2,000
10 #ALAHIE A3 2,000 0 2,000
Of20ls=cl £l 2,000,000& =14 2,000
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OXEAN et =etE 500,000& 2074 10,000
OXNEN nsSetdHE X E 300, 000& *50H 15,000
OFFd NEHNZZ KX 22l (L=5kn)
10,000, 0002 14! 10,000
03 Al =2 THHI 720 864 A144
OAIZ 2 HHI 80,000,000& *0.9/100 720
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01 A& HI 500,000 0 500,000
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03 Al 2 THHI 3,600 0 3,600
OAIZ = HHI 500,000, 000& *0.72/100 3,600
HE2L I (sMLE0) 91,851 94,592 N2, 741
ol 2 gl 42,720 41,198 1,522
ol 2AY| 42,720 41,198 1,522
101 @124l 42,720 41,198 1,522
01 2= 42,720 41,198 1,522
OAtZex% 8,476 x1821%280A| 2t 42,720
Jl2 &3l 49,131 53,394 N4,263
JlE&l 49,131 53,394 N4,263
201 €24 25,071 28,224 A 3,153
01 At 2t 2l 17,871 21,024 A 3,158
O1 get==2Hl 14,847
DEREMA2I=EH 14,847,000 14 14,847
O5 2l 3,024
Dot 522 2T 7,000& 182! +23| x12& 3,024
02 =224l 7,200 7,200 0
O1 3322 ¥ HA 4,200
DRERZS 1,750& 2004 128 4,200
O3 A& ZHl s Xl 3,000
> = A= Xl Y| 3,000,000& =14 3,000
202 odl 16,560 16,560 0
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